

Pay Estimate Created Date: November 30, 2023

Progress Estim 8		ontract ID 23042 rime ContractorS & A	21-B01 Equipment & B			per 30, 2023 Net Ch	al Contract Amount hange Order Amount ht Contract Amount	\$0.00		
Approval Date								By User		
December 1, 2023	3		Generated and	Approved (and sh	ould be considered	Draft) at the Projec	t Office Level by	flynns1		
December 1, 2023	3	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by								
December 5, 2023	3 Reviewed and Approved at the Central Office Controllers Office Level by									
Original Com	pletion Date	Current Comple	etion Date	Actual Com	pletion Date	% of Curren	t Contract Amount C	omplete		
July 1,	, 2024	July 1, 20	63.01%							
Cont	tract Information	al Dates	Milestones							
Date Description	Original Completion Date	Current Completion Date	Date	Description	Original Completion Date	Current Completion Date	Days Remaining on Milestone	Charge		
Acceptance Date				alendar Time -	December 5,	December 5, Milestone Compl		Days		
Awarded Date	May 3, 2023	May 3, 2023	JSP - J2S335		2023	2023				
Letting Date	April 21, 2023	April 21, 2023	Milestone - Calendar Time - March 22, 20 JSP B - J2S3355		March 22, 2024	March 22, 2024				

Notice to Proceed Date	June 5, 2023	June 5, 2023
Open to Traffic Date		
Work Began Date	July 19, 2023	July 19, 2023

Contract Total Tay	of Estimate No. 0				
		This Estimate	Previous	To Date	
230421-B01					
	Total Posted Items Pay	\$134,560.84	\$661,300.74	\$795,861.58	
	Gross Item Adjustments	\$11.41	(\$5,477.72)	(\$5,466.31)	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			\$655,823.02	\$790,395.27	
Contract Total Paya	ble This Estimate:	\$134,572.25			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J2P3355	0010	2019901	MISC.TREE TRIMMING	LS	\$4,769.700	1	\$4,769.70
	0020	2022010	REMOVAL OF IMPROVEMENTS	LS	\$114,051.860	0.25	\$28,512.97
	0060	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$11.660	7.1	\$82.79
	0080	5021108	CONCRETE PAVEMENT (8 IN. NON-REINF)	SQYD	\$89.870	16	\$1,437.92
	0100	6081010	CONCRETE CURB RAMP	SQYD	\$274.930	55.9	\$15,368.59
	0110	6081012	TRUNCATED DOMES	SQFT	\$58.880	80	\$4,710.40
	0140	6086004	CONCRETE SIDEWALK, 4 IN.	SQYD	\$59.880	48.8	\$2,922.14
	0150	6089905	MISC.REINFORCED CONCRETE SIDEWALK, 4"	SQYD	\$67.570	98	\$6,621.86
	0170	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	LF	\$53.140	27	\$1,434.78
	0200	6099903	MISC.CURB AND GUTTER, TYPE B, SPECIAL	LF	\$53.480	51.4	\$2,748.87
	0210	6161005	CONSTRUCTION SIGNS	SQFT	\$6.220	276	\$1,716.72
	0220	6161008	ADVANCED WARNING RAIL SYSTEM	EA	\$36.310	16	\$580.96
	0240	6161030	TYPE III MOVEABLE BARRICADE	EA	\$150.430	8	\$1,203.44
	0260	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	EA	\$4,149.760	2	\$8,299.52
	0280	6181000	MOBILIZATION	LS	\$83,401.780	0.5	\$41,700.89
	0320	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	LS	\$12,449.290	1	\$12,449.29



Pay Estimate Created Date: November 30, 2023

Progress	s Estimate 8	e Number	Contract ID 230421-B01 Pay Period S Prime ContractorS & A Equipment & Builders, LLC Pay Period I	StartNovember 16, 202 End November 30, 202	3Net Change C	order Amoun	
Project Number	Line Number	ltem Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
Project J2	<mark>2P3355 - T</mark>	otal					\$134,560.84
Overall -	Total						\$134,560.84

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J2P3355	0060	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	0.1	\$0.16	\$0.02
	0060	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	7	\$0.16	\$1.12
	0800	CONCRETE PAVEMENT (8 IN. NON-REINF)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	9	\$0.64	\$5.78
	0080	CONCRETE PAVEMENT (8 IN. NON-REINF)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	7	\$0.64	\$4.49
	0800	CONCRETE PAVEMENT (8 IN. NON-REINF)	Material			-93	\$89.87	(\$8,357.91
	0080	CONCRETE PAVEMENT (8 IN. NON-REINF)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user flynns1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	93	\$89.87	\$8,357.91
	0110	TRUNCATED DOMES	Material			-80	\$58.88	(\$4,710.40)
	0110	TRUNCATED DOMES	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user flynns1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	80	\$58.88	\$4,710.40
	0120	PAVED APPROACH, 7 IN.	Material			-278	\$96.74	(\$26,893.72)
	0120	PAVED APPROACH, 7 IN.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user flynns1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	278	\$96.74	\$26,893.72
	0130	PAVED APPROACH, 8 IN.	Material			-129.1	\$94.48	(\$12,197.37)
	0130	PAVED APPROACH, 8 IN.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user flynns1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	129.1	\$94.48	\$12,197.37
J2S3356	0910	2 IN. PSST POST - 12 GA.	MaterialCredit			48	\$35.26	\$1,692.48
	0910	2 IN. PSST POST - 12 GA.	Material			-48	\$35.26	(\$1,692.48)
	0930	2.5 IN. PSST POST - 12 GA.	MaterialCredit			64	\$35.24	\$2,255.36
	0930	2.5 IN. PSST POST - 12 GA.	Material			-64	\$35.24	(\$2,255.36)
	0940	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	MaterialCredit			1	\$332.67	\$332.67
	0940	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	Material			-1	\$332.67	(\$332.67)
Total								\$11.41



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Contract Project Information
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work
J2P3355	FAF 47-1(90)	ADA improvement	47, J, I-70 NOR	WARREN	on Route 47 in Warrenton, on Route J in Wright City, and I-70 North Outer Road in Wright City
J2S3356	FAS S202(31)	ADA improvement	CC, ZZ, 161, 19	MONTGOMERY	on Route 19 and 161 in Montgomery City, on Route 161 Middletown, and Route CC and Route ZZ in Wellsville

Totals by Job Numbers

3355	This Estimate	Previous	To Date
Posted Item Pay	\$134,560.84	\$272,997.37	\$407,558.21
Gross Item Adjustments	\$11.41	\$280.87	\$292.28
Gross Item Pay	\$134,572.25	\$273,278.24	\$407,850.49
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damages	\$0.00	\$0.00	\$0.00
			#0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	·		
3356	This Estimate	Previous	To Date
3356 Posted Item Pay	·		
3356 Posted Item Pay Gross Item Adjustments	This Estimate	Previous	To Date
3356 Posted Item Pay	This Estimate \$0.00	Previous \$388,303.37	To Date \$388,303.37
3356 Posted Item Pay Gross Item Adjustments	This Estimate \$0.00 \$0.00	Previous \$388,303.37 (\$5,758.59)	To Date \$388,303.37 (\$5,758.59)
3356 Posted Item Pay Gross Item Adjustments Gross Item Pay	This Estimate \$0.00 \$0.00 \$0.00	Previous \$388,303.37 (\$5,758.59) \$382,544.78	To Date \$388,303.37 (\$5,758.59) \$382,544.78
3356 Posted Item Pay Gross Item Adjustments Gross Item Pay Incentive	This Estimate \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	Previous \$388,303.37 (\$5,758.59) \$382,544.78 \$0.00	To Date \$388,303.37 (\$5,758.59) \$382,544.78 \$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J2P3355, Item 5021108, Project Item Line Number 0080, Material Set 502110896, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	No Remark was entered by Engineer	flynns1	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3355, Item 5021108, Project Item Line Number 0080, Material Set 502110896, Material 1057JMTBE28016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 40/M280@, Acceptance Action Generic ReinforcingMisc is insufficient.	No Remark was entered by Engineer	flynns1	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3355, Item 6081012, Project Item Line Number 0110, Material Set 608101296, Material 1067TRDO - Truncated Domes for ADA, Acceptance Action Generic 1067TRDO is insufficient.	No Remark was entered by Engineer	flynns1	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3355, Item 6085007, Project Item Line Number 0120, Material Set 608500796, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	No Remark was entered by Engineer	flynns1	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3355, Item 6085008, Project Item Line Number 0130, Material Set 608500896, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	No Remark was entered by Engineer	flynns1	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S3356, Item 9031270A, Project Item Line Number 0910, Material Set 9031270A96, Material 0903HSTS - Tubular Steel Sign Support, Acceptance Action Generic 0903HSTS is insufficient.	No Remark was entered by Engineer	flynns1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J2S3356, Item 9031280, Project Item Line Number 0930, Material Set 903128096, Material 0903HSTS - Tubular Steel Sign Support, Acceptance Action Generic 0903HSTS is insufficient.	No Remark was entered by Engineer	flynns1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J2S3356, Item 9031281A, Project Item Line Number 0940, Material Set 9031281A, Material 0903HSSBPSST - Slip Base PSST Posts, Acceptance Action Generic 0903HSSBPSST is insufficient.	No Remark was entered by Engineer	flynns1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 230421-B01, Contract Project J2S3356, Project Item Line Number 0730, Item 6089905, Minor Item.	No Remark was entered by Engineer	flynns1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 230421-B01, Contract Project J2S3356, Project Item Line Number 0810, Contract Line Item Number 0810, Item 6209903, Minor Item.	No Remark was entered by Engineer	flynns1	Acknowledged



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
230421-B01	J2P3355	0001	0010	2019901	MISC.TREE TRIMMING	1.00	0.00	1.00	LS	1.00	\$4,769.70	\$4,769.7
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.75	\$114,051.86	\$85,538.9
		0001	0030	2061000	CLASS 1 EXCAVATION	10.00	0.00	10.00	CUYD	10.00	\$62.48	\$624.8
		0001	0040	2063000	CLASS 3 EXCAVATION	1.00	0.00	1.00	CUYD	1.00	\$624.81	\$624.8
		0001	0050	2079903	MISC.LINEAR GRADING FOR ADA FACILITIES	2,811.00	0.00	2,811.00	LF	1,580.09	\$17.12	\$27,051.1
		0001	0060	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	894.00	0.00	894.00	SQYD	492.50	\$11.66	\$5,742.5
		0001	0070	3105002	GRAVEL (A) OR CRUSHED STONE (B)	23.00	0.00	23.00	TONS	23.00	\$54.41	\$1,251.4
		0001	0080	5021108	CONCRETE PAVEMENT (8 IN. NON-REINF)	203.80	0.00	203.80	SQYD	93.00	\$89.87	\$8,357.9
		0001	0090	6081000	CONCRETE MEDIAN	10.70	0.00	10.70	SQYD	0.70	\$380.62	\$266.4
		0001	0100	6081010	CONCRETE CURB RAMP	235.60	0.00	235.60	SQYD	89.90	\$274.93	\$24,716.2
		0001	0110	6081012	TRUNCATED DOMES	334.00	0.00	334.00	SQFT	80.00	\$58.88	\$4,710.4
		0001	0120	6085007	PAVED APPROACH, 7 IN.	278.00	0.00	278.00	SQYD	278.00	\$96.74	\$26,893.7
		0001	0130	6085008	PAVED APPROACH, 8 IN.	412.00	0.00	412.00	SQYD	129.10	\$94.48	\$12,197.3
		0001	0140	6086004	CONCRETE SIDEWALK, 4 IN.	69.30	0.00	69.30	SQYD	69.30	\$59.88	\$4,149.6
		0001	0150	6089905	MISC.REINFORCED CONCRETE SIDEWALK, 4"	1,014.80	0.00	1,014.80	SQYD	655.80	\$67.57	\$44,312.4
		0001	0160	6089905	MISC.REINFORCED CONCRETE SIDEWALK, 7"	343.00	0.00	343.00	SQYD	282.10	\$86.57	\$24,421.4
		0001	0170	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	102.00	0.00	102.00	LF	42.16	\$53.14	\$2,240.3
		0001	0180	6091042	CONCRETE GUTTER TYPE B	6.00	0.00	6.00	LF	0.00	\$55.37	\$0.0
		0001	0190	6092011	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	13.00	0.00	13.00	LF	0.00	\$91.11	\$0.0
		0001	0200	6099903	MISC.CURB AND GUTTER, TYPE B, SPECIAL	655.00	0.00	655.00	LF	51.40	\$53.48	\$2,748.8
		0001	0210	6161005	CONSTRUCTION SIGNS	1,650.00	0.00	1,650.00	SQFT	656.00	\$6.22	\$4,080.3
		0001	0220	6161008	ADVANCED WARNING RAIL SYSTEM	16.00	0.00	16.00	EA	16.00	\$36.31	\$580.9
		0001	0230	6161025	CHANNELIZER (TRIM LINE)	207.00	0.00	207.00	EA	110.00	\$24.90	\$2,739.0
		0001	0240	6161030	TYPE III MOVEABLE BARRICADE	16.00	0.00	16.00	EA	8.00	\$150.43	\$1,203.4
		0001	0250	6161040	FLASHING ARROW PANEL	4.00	0.00	4.00	EA	0.00	\$1,452.42	\$0.0
		0001	0260	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$4,149.76	\$8,299.5
		0001	0270	6169902	MISC.DETECTABLE PEDESTRIAN BARRICADE	30.00	0.00	30.00	EA	30.00	\$77.81	\$2,334.3
		0001	0280	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$83,401.78	\$83,401.7
		0001	0290	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	1,021.00	0.00	1,021.00	LF	0.00	\$6.74	\$0.0
		0001	0300	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN	5.00	0.00	5.00	EA	0.00	\$207.49	\$0.0
		0001	0310	6207001	WHITE MIDBLOCK PAVEMENT MARKING REMOVAL	1,006.00	0.00	1,006.00	LF	0.00	\$3.11	\$0.0
		0001	0320	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$12,449.29	\$12,449.2
		0001	0330	7032009	CLASS B CONCRETE (RETAINING WALLS)	2.60	0.00	2.60	CUYD	2.60	\$1,999.50	\$5,198.7
		0001	0340	7101000	REINFORCING STEEL (EPOXY COATED)	220.00	0.00	220.00	LB	220.00	\$5.03	\$1,106.6
		0001	0350	7250315A	15 IN. PIPE GROUP B	6.00	0.00	6.00	LF	6.00	\$263.63	\$1,581.7
		0001	0360	7319902	MISC.Modified Existing Drop Inlet	1.00	0.00	1.00	EA	0.00	\$2,745.59	\$0.0
		0001	0370	8059901	MISC.SEEDING AND MULCHING	1.00	0.00	1.00	LS	0.00	\$25,936.02	\$0.0
		0001	0380	8061006	ALTERNATE DITCH CHECK	126.00	0.00	126.00	LF	126.00	\$12.97	\$1,634.2
		0001	0390	8061007A	CURB INLET CHECK	6.00	0.00	6.00	EA	1.00	\$207.49	\$207.4
		0001	0400	8061016	SEDIMENT REMOVAL	26.00	0.00	26.00	CUYD	0.00	\$24.03	\$0.0
		0001	0410	8061019	SILT FENCE	737.00	0.00	737.00	LF	532.00	\$3.99	\$2,122.6
		0030	0420	9020213	SIGNAL HEAD, TYPE 3S	1.00	0.00	1.00	EA	0.00	\$988.68	\$0.0
		0030	0420	9020225	SIGNAL HEAD, TYPE 34S	3.00	0.00	3.00	EA	0.00	\$1,810.33	\$0.0



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q	uantities	and Valu	es are b	ased on R	eport Generated date and can differ from the posted am	ount at th	e time the	e Estimate v	vas Gen	erated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
230421-B01	J2P3355	0030	0450	9020833	SH-FLAT SHEET - SIGNAL SIGN	67.00	0.00	67.00	SQFT	0.00	\$36.31	\$0.00
		0030	0460	9020834	SIGNAL SIGN, MOUNTING HARDWARE	6.00	0.00	6.00	EA	0.00	\$290.48	\$0.00
		0030	0470	9024921	ACCESSIBLE PEDESTRIAN SIGNAL	8.00	0.00	8.00	EA	0.00	\$995.94	\$0.00
		0030	0480	9024975	VIDEO DETECTION SYSTEM	2.00	0.00	2.00	EA	0.00	\$28,010.90	\$0.00
		0030	0490	9025300	CONDUIT, 3 IN., TRENCH WITH TRACER WIRE	56.00	0.00	56.00	LF	0.00	\$25.94	\$0.00
		0030	0500	9028308	CABLE, 16 AWG 2 CONDUCTOR	1,350.00	0.00	1,350.00	LF	0.00	\$1.19	\$0.00
		0030	0510	9028310	CABLE, 16 AWG 5 CONDUCTOR	1,360.00	0.00	1,360.00	LF	0.00	\$1.30	\$0.00
		0030	0520	9028311	CABLE, 16 AWG 7 CONDUCTOR	1,700.00	0.00	1,700.00	LF	0.00	\$1.40	\$0.00
		0030	0530	9029902	MISC.CONTROLLER ASSEMBLY HOUSING, NEMA, TS1	2.00	0.00	2.00	EA	0.00	\$24,145.40	\$0.00
		0030	0540	9029902	MISC.PUSH BUTTON STANCHION	3.00	0.00	3.00	EA	0.00	\$946.15	\$0.00
		0030	0550	9029902	MISC.UNINTERRUPTIBLE POWER SUPPLY (UPS) MOUNTED ON SIGNAL CABINET	2.00	0.00	2.00	EA	0.00	\$6,849.18	\$0.00
		0040	0560	9031270A	2 IN. PSST POST - 12 GA.	128.00	0.00	128.00	LF	0.00	\$52.77	\$0.00
		0040	0570	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	8.00	0.00	8.00	EA	0.00	\$493.00	\$0.00
		0040	0580	9031280	2.5 IN. PSST POST - 12 GA.	16.00	0.00	16.00	LF	0.00	\$126.00	\$0.00
		0040	0590	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	1.00	0.00	1.00	EA	0.00	\$719.31	\$0.00
		0040	0600	9035069A	SHF-FLAT SHEET FLUORESCENT	22.00	0.00	22.00	SQFT	0.00	\$72.78	\$0.00
	Project J2	2P3355 - To	otal Value	Posted to D	Date as of Report Generated Date							\$407,558.19
	J2S3356	0001	0610	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$77,980.27	\$77,980.27
		0001	0620	2061000	CLASS 1 EXCAVATION	40.50	0.00	40.50	CUYD	40.10	\$30.86	\$1,237.49
		0001	0630	2063000	CLASS 3 EXCAVATION	2.00	0.00	2.00	CUYD	2.00	\$312.41	\$624.82
		0001	0640	2079903	MISC.LINEAR GRADING FOR ADA FACILITIES	2,652.00	0.00	2,652.00	LF	2,652.00	\$10.89	\$28,880.28
		0001	0650	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	298.00	0.00	298.00	SQYD	297.60	\$21.32	\$6,344.83
		0001	0660	5021108	CONCRETE PAVEMENT (8 IN. NON-REINF)	106.30	0.00	106.30	SQYD	106.30	\$135.51	\$14,404.71
		0001	0670	6081000	CONCRETE MEDIAN	58.10	0.00	58.10	SQYD	38.00	\$162.63	\$6,179.94
		0001	0680	6081010	CONCRETE CURB RAMP	118.70	0.00	118.70	SQYD	105.10	\$126.03	\$13,245.75
		0001	0690	6081012	TRUNCATED DOMES	214.00	0.00	214.00	SQFT	174.00	\$44.64	\$7,767.36
		0001	0700	6085007	PAVED APPROACH, 7 IN.	197.00	0.00	197.00	SQYD	197.00	\$84.77	\$16,699.69
		0001	0710	6086004	CONCRETE SIDEWALK, 4 IN.	82.40	0.00	82.40	SQYD	82.40	\$81.33	\$6,701.59
		0001	0720	6086007	CONCRETE SIDEWALK, 7 IN.	88.70	0.00	88.70	SQYD	88.70	\$106.07	\$9,408.41
		0001	0730	6089905	MISC.REINFORCED CONCRETE SIDEWALK, 4"	820.70	0.00	820.70	SQYD	824.10	\$67.57	\$55,684.44
		0001	0740	6089905	MISC.REINFORCED CONCRETE SIDEWALK, 7"	144.60	0.00	144.60	SQYD	144.60	\$118.04	\$17,068.58
		0001	0750	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	46.00	0.00	46.00	LF	45.90	\$100.51	\$4,613.41
		0001	0760	6099903	MISC.CURB AND GUTTER, TYPE B, SPECIAL	149.00	0.00	149.00	LF	148.70	\$149.81	\$22,276.75
		0001	0770	6161005	CONSTRUCTION SIGNS	452.00	0.00	452.00	SQFT	452.00	\$7.26	\$3,281.52
		0001	0780	6161025	CHANNELIZER (TRIM LINE)	88.00	0.00	88.00	EA	51.00	\$24.90	\$1,269.90
		0001	0790	6169902	MISC.DETECTABLE PEDESTRIAN BARRICADE	20.00	0.00	20.00	EA	20.00	\$80.75	\$1,615.00
		0001	0800	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$38,569.26	\$38,569.26
		0001	0810	6209903	MISC.PAINT CURB YELLOW	261.00	0.00	261.00	LF	522.00	\$5.19	\$2,709.18
		0001	0820	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$12,449.29	\$12,449.29
		0001	0830	7032009	CLASS B CONCRETE (RETAINING WALLS)	8.00	0.00	8.00	CUYD	8.00	\$1,470.42	\$11,763.36
		0001	0840	7101000	REINFORCING STEEL (EPOXY COATED)	760.00	0.00	760.00	LB	760.00	\$2.01	\$1,527.60
		0001	0850	7250312A	12 IN. PIPE GROUP B	18.00	0.00	18.00	LF	18.00	\$86.03	\$1,548.54
		0001	0860	8059901		1.00	0.00	1.00	LS	0.50	\$25,936.02	\$12,968.01
		0001	0870	8061006		320.00	0.00	320.00	LF	320.00	\$12.97	\$4,150.40
		0001	0880	8061007A	CURB INLET CHECK	10.00	0.00	10.00	EA	10.00	\$207.49	\$2,074.90

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
230421-B01	J2S3356	0001	0890	8061016	SEDIMENT REMOVAL	69.00	0.00	69.00	CUYD	0.00	\$36.22	\$0.00
		0001	0900	8061019	SILT FENCE	245.00	0.00	245.00	LF	245.00	\$3.99	\$977.55
		0040	0910	9031270A	2 IN. PSST POST - 12 GA.	48.00	0.00	48.00	LF	48.00	\$35.26	\$1,692.48
		0040	0920	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	3.00	0.00	3.00	EA	0.00	\$543.95	\$0.00
		0040	0930	9031280	2.5 IN. PSST POST - 12 GA.	64.00	0.00	64.00	LF	64.00	\$35.24	\$2,255.36
		0040	0940	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	4.00	0.00	4.00	EA	1.00	\$332.67	\$332.67
	Project J	2S3356 - To	otal Value	Posted to D	Date as of Report Generated Date							\$388,303.34
230421-B01 Ove	rall - Total	Value Post	ted to Da	te as of Repo	ort Generated Date							\$795,861.53



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J2P3355

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2019901	MISC.	11/21/23	11/30/23	1.00	LS	Wright City	.1		.1		
0020	2022010	REMOVAL OF IMPROVEMENTS	11/29/23	11/30/23	0.25	LS	Warrenton	.1		.1		
0060	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	11/29/23	11/30/23	0.10	SQYD	MO 47 & OLD US 40 N.WN WARRENTON	9.0		.1		
			11/30/23	11/30/23	7.00	SQYD	MO 47 & OLD US 40 N.WS & S.W.	.1		.1		
0080	5021108	CONCRETE PAVEMENT (8 IN. NON-REINF)	11/29/23	11/30/23	9.00	SQYD	MO 47 & OLD US 40 N.WN WARRENTON	.1		.1		
			11/30/23	11/30/23	7.00	SQYD	MO 47 & OLD US 40 N.WS & S.W.	.1		.1		
0100	6081010	CONCRETE CURB RAMP	11/16/23	11/30/23	4.20	SQYD	East Sidewalk	0+05.00		0+95.26		
			11/30/23	11/30/23	51.70	SQYD	MO 47 & OLD US 40 N.WS & S.W.& N.WN	.1		.1		
0110	6081012	TRUNCATED DOMES	11/16/23	11/30/23	80.00	SQFT	Wright City	.1		.1		
0140	6086004	CONCRETE SIDEWALK, 4 IN.	11/29/23	11/30/23	38.70	SQYD	MO 47 & OLD US 40 N.WN WARRENTON	.1		.1		
			11/30/23	11/30/23	10.10	SQYD	MO 47 & OLD US 40 N.W.	.1		.1		
0150	6089905	MISC. CONCRETE	11/29/23	11/30/23	23.10	SQYD	MO 47 & OLD US 40 N.WN WARRENTON	.1		.1		
			11/30/23	11/30/23	74.90	SQYD	MO 47 & OLD US 40 N.WS & S.W.	.1		.1		
0170	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER)	11/29/23	11/30/23	27.00	LF	MO 47 & OLD US 40 N.WN WARRENTON	.1		.1		
0200	6099903	MISC. PAVED DRAINAGE	11/30/23	11/30/23	51.40	LF	MO 47 & OLD US 40 N.WS & S.W.	.1		.1		
0210		CONSTRUCTION SIGNS		11/30/23	276.00	SQFT		.1		.1		47 SOUTH CHANGEABLE MESSAGE SIGN LOG MILE 33.447 ROAD WORK AHEAD LOG MILE 33.442 SHOULDER WORK AHEAD LOG MILE 33.526 ROAD WORK AHEAD LOG MILE EAST VETERAN MEMORIAL PWY ROAD WORK AHEAD LOG MILE 0.219 SHOULDER WORK AHEAD LOG MILE 0.219 WEST VETERAN MEMORIAL PWY ROAD WORK AHEAD LOG MILE 0.219 SHOULDER WORK AHEAD LOG MILE 0.219 SHOULDER WORK AHEAD LOG MILE 0.250 SHOULDER WORK AHEAD LOG MILE 1.604 AT NORTH ROAD WORK AHEAD LOG MILE 1.615 AT NORTH ROAD WORK AHEAD LOG MILE 50.03 CHANGEABLE MESSAGE SIGN LOG MILE 55.25 RHOULDER WORK AHEAD LOG MILE 55.489 BOONESLICK WEST ROAD WORK AHEAD LOG MILE 1.450 SHOULDER WORK AHEAD LOG MILE 1.452 SHOULDER WORK AHEAD LOG MILE 1.452
0220	6161008	ADVANCED WARNING RAIL SYSTEM	11/29/23	11/30/23	16.00	EA	WARRENTON	.1		.1		
0240	6161030	TYPE III MOVEABLE BARRICADE	11/29/23	11/30/23	8.00	EA	WARRENTON/WRIGHT CITY	.1		.1		
0260	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	11/29/23	11/30/23	2.00	EA		.1		.1		47 SOUTH CHANGEABLE MESSAGE SIGN LOG MILE 33.444 47 NORTH CHANGEABLE MESSAGE SIGN LOG MILE 85.25
0280	6181000	MOBILIZATION	11/29/23	11/30/23	0.50	LS	WARRENTON	.1		.1		
0320	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKI	11/30/23	11/30/23	1.00	LS	WRIGHT CITY & WARRENTON	.1		.1		

The information below this line are details for Construction Signs (if applicable). No Data Available



Dec 6, 2023

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2P3355	0060	TYPE 1 AGGREGATE FOR BASE (4 IN.	Material		6	Nov 1, 2023	SYSTEM	\$4,309.54	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user flynns1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		THICK)			6	Nov 1, 2023	SYSTEM	(\$4,309.54)	
					7	Nov 16, 2023	SYSTEM	\$5,659.76	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user flynns1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					7	Nov 16, 2023	SYSTEM	(\$5,659.76)	
				- Total				\$0.00	
			Material - Tota	ป				\$0.00	
			Price FUEL		6	Nov 1, 2023	SYSTEM	\$37.15	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					7	Nov 15, 2023	SYSTEM	\$18.59	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					8	Nov 30, 2023	SYSTEM	\$1.14	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$56.88	
			Price FUEL - 1	otal				\$56.88	
	0060 -	Total						\$56.88	
	0080	CONCRETE PAVEMENT (8 IN. NON-REINF)	8		7	Nov 16, 2023	SYSTEM	\$6,919.99	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user flynns1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					7	Nov 16, 2023	SYSTEM	(\$6,919.99)	
					8	Dec 1, 2023	SYSTEM	\$8,357.91	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user flynns1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					8	Nov 30, 2023	SYSTEM	(\$8,357.91)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
			Price FUEL		7	Nov 15, 2023	SYSTEM	\$49.43	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					8	Nov 30, 2023	SYSTEM	\$10.27	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$59.70 \$59.70	
	0000	Total	Price FUEL - 1	Price FUEL - Total					
	0110	Total TRUNCATED DOMES			8	Dec 1, 2023	SYSTEM	\$59.70 \$4,710.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user flynns1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					8	Nov 30, 2023	SYSTEM	(\$4,710.40)	. ,
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0110 -	Total						\$0.00	
	0120	PAVED APPROACH, 7	Material		6	Nov 1, 2023	SYSTEM	(\$17,500.27)	
		IN.			7	Nov 16, 2023	SYSTEM	\$26,893.72	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user flynns1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					7	Nov 16, 2023	SYSTEM	(\$26,893.72)	
					8	Dec 1, 2023	SYSTEM	\$26,893.72	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user flynns1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					8	Nov 30, 2023	SYSTEM	(\$26,893.72)	
				- Total				(\$17,500.27)	
			Material - Tota	ıl				(\$17,500.27)	



Dec 6, 2023

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
2P3355	0120	PAVED APPROACH, 7 IN.	MaterialCredit		7	Nov 16, 2023	SYSTEM	\$17,500.27	
				- Total				\$17,500.27	
			MaterialCredit	- Total				\$17,500.27	
			Price FUEL		6	Nov 1, 2023	SYSTEM	\$66.66	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					7	Nov 15, 2023	SYSTEM	\$57.14	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$123.80	
			Price FUEL - T	otal				\$123.80	
	0120 -	Total							
	0130	PAVED APPROACH, 8 IN.	Material		6	Nov 1, 2023	SYSTEM	\$12,197.37	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user flynns1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					6	Nov 1, 2023	SYSTEM	(\$12,197.37)	
					7	Nov 16, 2023	SYSTEM	\$12,197.37	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user flynns1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					7	Nov 16, 2023	SYSTEM	(\$12,197.37)	
					8	Dec 1, 2023	SYSTEM	\$12,197.37	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user flynns1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					8	Nov 30, 2023	SYSTEM	(\$12,197.37)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
			Price FUEL		6	Nov 1, 2023	SYSTEM	\$51.90	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$51.90	
			Price FUEL - Total					\$51.90	
	0130 -	Total						\$51.90	
	0140	CONCRETE SIDEWALK, 4 IN.	Material		6	Nov 1, 2023	SYSTEM	\$640.72	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user flynns1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					6	Nov 1, 2023	SYSTEM	(\$640.72)	
					7	Nov 16, 2023	SYSTEM	\$1,227.54	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user flynns1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
					7	Nov 16, 2023	SYSTEM	(\$1,227.54)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0140 -	Total						\$0.00	
	0160	MISC. CONCRETE	Material		7	Nov 16, 2023	SYSTEM	\$24,421.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user flynns1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
					7	Nov 16, 2023	SYSTEM	(\$24,421.40)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0160 -	Total						\$0.00	
	0380	ALTERNATE DITCH CHECK	Material		5	Oct 16, 2023	SYSTEM	(\$1,634.22)	
					6	Nov 1, 2023	SYSTEM	(\$1,634.22)	
				- Total				(\$3,268.44)	
			Material - Tota	ıl				(\$3,268.44)	



Dec 6, 2023

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2P3355	0380	ALTERNATE DITCH CHECK	MaterialCredit		6	Nov 1, 2023	SYSTEM	\$1,634.22	
					7	Nov 16, 2023	SYSTEM	\$1,634.22	
				- Total				\$3,268.44	
			MaterialCredit	- Total				\$3,268.44	
	0380 -	Total						\$0.00	
	0390	CURB INLET CHECK	Material		5	Oct 16, 2023	SYSTEM	(\$207.49)	
					6	Nov 1, 2023	SYSTEM	(\$207.49)	
				- Total				(\$414.98)	
			Material - Tota					(\$414.98)	
			MaterialCredit		6	Nov 1, 2023	SYSTEM	\$207.49	
					7	Nov 16, 2023	SYSTEM	\$207.49	
				- Total				\$414.98	
			MaterialCredit	- Total				\$414.98	
	0390 -	Total						\$0.00	
J2P3355 -	Total							\$292.28	
J2S3356	0650	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	E N.		2	Sep 1, 2023	SYSTEM	(\$2,396.37)	
					3	Sep 15, 2023	SYSTEM	(\$4,200.04)	
					4	Oct 3, 2023	SYSTEM	(\$6,344.83)	
					5	Oct 16, 2023	SYSTEM	\$6,344.83	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user flynns1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Oct 16, 2023	SYSTEM	(\$6,344.83)	
					6	Nov 1, 2023	SYSTEM	\$6,344.83	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user flynns1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					6	Nov 1, 2023	SYSTEM	(\$6,344.83)	
					7	Nov 16, 2023	SYSTEM	\$6,344.83	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user flynns1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					7	Nov 16, 2023	SYSTEM	(\$6,344.83)	
				- Total				(\$12,941.24)	
			Material - Tota	I				(\$12,941.24)	
			MaterialCredit		3	Sep 15, 2023	SYSTEM	\$2,396.37	
					4	Oct 3, 2023	SYSTEM	\$4,200.04	
					5	Oct 16, 2023	SYSTEM	\$6,344.83	
				- Total				\$12,941.24	
			MaterialCredit	- Total				\$12,941.24	
			Price FUEL		2	Sep 1, 2023	SYSTEM	\$5.90	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					3	Sep 15, 2023	SYSTEM	\$7.23	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	Oct 3, 2023	SYSTEM	\$8.61	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$21.74	
			Price FUEL - T	otal				\$21.74	



Dec 6, 2023

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks								
2S3356	0650 -	Total						\$21.74									
	0660	CONCRETE PAVEMENT (8 IN. NON-REINF)	Price FUEL		4	Oct 3, 2023	SYSTEM	\$36.36	Reference Item Price Adjustment Index Adjustment Type applied is FUEL								
		IN. NON-REINT)		- Total				\$36.36									
			Price FUEL - T	otal				\$36.36									
	0660 -	Total						\$36.36									
	0680	CONCRETE CURB RAMP	Material		2	Sep 1, 2023	SYSTEM	(\$1,260.30)									
					3	Sep 15, 2023	SYSTEM	\$1,714.01	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user flynns1 overridding Payment Estimate Exception 2 on the current Payment Estimate.								
					3	Sep 15, 2023	SYSTEM	(\$1,714.01)									
				- Total				(\$1,260.30)									
			Material - Tota	ıl				(\$1,260.30)									
			MaterialCredit		3	Sep 15, 2023	SYSTEM	\$1,260.30									
				- Total				\$1,260.30									
			MaterialCredit	- Total				\$1,260.30									
	0680 -	Total						\$0.00									
	0690	TRUNCATED DOMES	Material		2	Sep 1, 2023	SYSTEM	\$446.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user flynns1 overridding Payment Estimate Exception 3 on the current Payment Estimate.								
					2	Sep 1, 2023	SYSTEM	(\$446.40)									
				- Total				\$0.00									
			Material - Tota	ıl				\$0.00									
	0690 -	Total						\$0.00									
	0700	PAVED APPROACH, 7 IN.	Material	Material		2	Sep 1, 2023	SYSTEM	\$9,528.15	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user flynns1 overridding Payment Estimate Exception 4 on the current Payment Estimate.							
														2	Sep 1, 2023	SYSTEM	(\$9,528.15)
					3	Sep 15, 2023	SYSTEM	\$16,699.69	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user flynns1 overridding Payment Estimate Exception 3 on the current Payment Estimate.								
					3	Sep 15, 2023	SYSTEM	(\$16,699.69)									
					4	Oct 3, 2023	SYSTEM	\$16,699.69	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user flynns1 overridding Payment Estimate Exception 3 on the current Payment Estimate.								
					4	Oct 3, 2023	SYSTEM	(\$16,699.69)									
					5	Oct 16, 2023	SYSTEM	\$16,699.69	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user flynns1 overridding Payment Estimate Exception 2 on the current Payment Estimate.								
					5	Oct 16, 2023	SYSTEM	(\$16,699.69)									
					6	Nov 1, 2023	SYSTEM	\$16,699.69	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user flynns1 overridding Payment Estimate Exception 6 on the current Payment Estimate.								
					6	Nov 1, 2023	SYSTEM	(\$16,699.69)									
					7	Nov 16, 2023	SYSTEM	\$16,699.69	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user flynns1 overridding Payment								
						2025			Estimate Exception 9 on the current Payment Estimate.								
					7	Nov 16, 2023	SYSTEM	(\$16,699.69)									
				- Total	7	Nov 16,	SYSTEM	(\$16,699.69) \$0.00									
			Material - Tota		7	Nov 16,	SYSTEM	, , , , , , , , , , , , , , , , , , ,									



Dec 6, 2023

Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
,			Туре	Adjustment Type	Number	Date	Ву		
I2S3356	0700	PAVED APPROACH, 7	Price FUEL		3	Sep 15, 2023	SYSTEM	\$26.52	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		IN.		- Total				\$48.15	
			Price FUEL - 1	Гotal				\$48.15	
	0700 -	Total						\$48.15	
	0710	CONCRETE SIDEWALK, 4 IN.	Material		3	Sep 15, 2023	SYSTEM	\$634.37	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user flynns1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					3	Sep 15, 2023	SYSTEM	(\$634.37)	
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
		Total				a 1		\$0.00	
	0730	MISC. CONCRETE	Material		2	Sep 1, 2023	SYSTEM	\$22,608.92	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user flynns1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					2	Sep 1, 2023	SYSTEM	(\$22,608.92)	
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
			Overrun	Overrun	3	Sep 15, 2023	SYSTEM	(\$229.74)	
				Overrun - T	otal			(\$229.74)	
			Overrun - Tota	al				(\$229.74)	
	0730 -	Total						(\$229.74)	
	0770	CONSTRUCTION	Material		1	Aug 1, 2023	SYSTEM	\$1,422.96	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user flynns1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					1	Aug 1, 2023	SYSTEM	(\$1,422.96)	
						Sep 1, 2023	SYSTEM	\$1,887.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user flynns1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					2	Sep 1, 2023	SYSTEM	(\$1,887.60)	
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
	0770 -	Total						\$0.00	
	0780	CHANNELIZER (TRIM LINE)	Material		1	Aug 1, 2023	SYSTEM	\$1,020.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user flynns1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					1	Aug 1, 2023	SYSTEM	(\$1,020.90)	
					2	Sep 1, 2023	SYSTEM	\$1,020.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user flynns1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					2	Sep 1, 2023	SYSTEM	(\$1,020.90)	
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
		Total						\$0.00	
	0810	MISC. PAVEMENT MARKINGS	Overrun	Overrun		Nov 1, 2023	SYSTEM	(\$1,354.59)	
				Overrun - T	otal			(\$1,354.59)	
			Overrun - Tota	al				(\$1,354.59)	
		Total						(\$1,354.59)	
	0840	REINFORCING STEEL (EPOXY COATED)	Material		2	Sep 1, 2023	SYSTEM	\$950.73	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user flynns1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					2	Sep 1,	SYSTEM	(\$950.73)	



Dec 6, 2023

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2S3356	0840	REINFORCING	Material	.)		2023			
		STEEL (EPOXY COATED)		- Total				\$0.00	
		00/1122/	Material - Tota	l				\$0.00	
	0840 -	- Total						\$0.00	
	0870	ALTERNATE DITCH CHECK	Material		1	Aug 1, 2023	SYSTEM	\$1,316.46	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user flynns1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					1	Aug 1, 2023	SYSTEM	(\$1,316.46)	
					2	Sep 1, 2023	SYSTEM	(\$6,119.25)	
					3	Sep 15, 2023	SYSTEM	(\$4,150.40)	
					4	Oct 3, 2023	SYSTEM	(\$4,150.40)	
				- Total				(\$14,420.05)	
			Material - Tota					(\$14,420.05)	
			MaterialCredit		3	Sep 15, 2023	SYSTEM	\$6,119.25	
					4	Oct 3, 2023	SYSTEM	\$4,150.40	
					5	Oct 16, 2023	SYSTEM	\$4,150.40	
				- Total		2020		\$14,420.05	
			MaterialCredit	- Total				\$14,420.05	
			Overrun	Overrun	2	Sep 1, 2023	SYSTEM	(\$1,968.85)	
					3	Sep 15, 2023	SYSTEM	\$1,968.85	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',12.97000 - 12.97000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0870 -	- Total						\$0.00	
	0880	CURB INLET CHECK	Material		3	Sep 15, 2023	SYSTEM	(\$2,074.90)	
					4	Oct 3, 2023	SYSTEM	\$2,074.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user flynns1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					4	Oct 3,	SYSTEM SYSTEM	\$2,074.90 (\$2,074.90)	Estimate Item Adjustment (0026) due to user flynns1 overridding Payment
				- Total		Oct 3, 2023 Oct 3,			Estimate Item Adjustment (0026) due to user flynns1 overridding Payment
			Material - Tota			Oct 3, 2023 Oct 3,		(\$2,074.90)	Estimate Item Adjustment (0026) due to user flynns1 overridding Payment
			Material - Tota MaterialCredit			Oct 3, 2023 Oct 3,		(\$2,074.90) (\$2,074.90)	Estimate Item Adjustment (0026) due to user flynns1 overridding Payment
					4	Oct 3, 2023 Oct 3, 2023 Oct 3,	SYSTEM	(\$2,074.90) (\$2,074.90) (\$2,074.90)	Estimate Item Adjustment (0026) due to user flynns1 overridding Payment
				ıl - Total	4	Oct 3, 2023 Oct 3, 2023 Oct 3,	SYSTEM	(\$2,074.90) (\$2,074.90) (\$2,074.90) \$2,074.90	Estimate Item Adjustment (0026) due to user flynns1 overridding Payment
	0880 -	- Total	MaterialCredit	ıl - Total	4	Oct 3, 2023 Oct 3, 2023 Oct 3,	SYSTEM	(\$2,074.90) (\$2,074.90) (\$2,074.90) \$2,074.90 \$2,074.90	Estimate Item Adjustment (0026) due to user flynns1 overridding Payment
		Total 2 IN. PSST POST - 12 GA.	MaterialCredit MaterialCredit	ıl - Total	4	Oct 3, 2023 Oct 3, 2023 Oct 3,	SYSTEM	(\$2,074.90) (\$2,074.90) (\$2,074.90) \$2,074.90 \$2,074.90 \$2,074.90	Estimate Item Adjustment (0026) due to user flynns1 overridding Payment
		2 IN. PSST POST	MaterialCredit MaterialCredit	ıl - Total	4	Oct 3, 2023 Oct 3, 2023 Oct 3, 2023 Nov 1,	SYSTEM	(\$2,074.90) (\$2,074.90) (\$2,074.90) \$2,074.90 \$2,074.90 \$2,074.90 \$2,074.90	Estimate Item Adjustment (0026) due to user flynns1 overridding Payment
		2 IN. PSST POST	MaterialCredit MaterialCredit	ıl - Total	4	Oct 3, 2023 Oct 3, 2023 Oct 3, 2023 Oct 3, 2023 Nov 1, 2023	SYSTEM	(\$2,074.90) (\$2,074.90) (\$2,074.90) \$2,074.90 \$2,074.90 \$2,074.90 \$2,074.90 (\$1,692.48)	Estimate Item Adjustment (0026) due to user flynns1 overridding Payment
		2 IN. PSST POST	MaterialCredit MaterialCredit	ıl - Total	4 4 6 7	Oct 3, 2023 Oct 3, 2023 Oct 3, 2023 Oct 3, 2023 Nov 1, 2023 Nov 16, 2023	SYSTEM SYSTEM SYSTEM SYSTEM	(\$2,074.90) (\$2,074.90) (\$2,074.90) \$2,074.90 \$2,074.90 \$2,074.90 \$2,074.90 (\$1,692.48) (\$1,692.48)	Estimate Item Adjustment (0026) due to user flynns1 overridding Payment
		2 IN. PSST POST	MaterialCredit MaterialCredit	- Total - Total - Total	4 4 6 7	Oct 3, 2023 Oct 3, 2023 Oct 3, 2023 Oct 3, 2023 Nov 1, 2023 Nov 16, 2023	SYSTEM SYSTEM SYSTEM SYSTEM	(\$2,074.90) (\$2,074.90) (\$2,074.90) \$2,074.90 \$2,074.90 \$2,074.90 \$2,074.90 (\$1,692.48) (\$1,692.48) (\$1,692.48)	Estimate Item Adjustment (0026) due to user flynns1 overridding Payment
		2 IN. PSST POST	MaterialCredit MaterialCredit	- Total - Total - Total	4 4 6 7	Oct 3, 2023 Oct 3, 2023 Oct 3, 2023 Oct 3, 2023 Nov 1, 2023 Nov 16, 2023	SYSTEM SYSTEM SYSTEM SYSTEM	(\$2,074.90) (\$2,074.90) (\$2,074.90) \$2,074.90 \$2,074.90 \$2,074.90 (\$1,692.48) (\$1,692.48) (\$1,692.48) (\$1,692.48)	Estimate Item Adjustment (0026) due to user flynns1 overridding Payment
		2 IN. PSST POST	MaterialCredit MaterialCredit Material	- Total - Total - Total	4 6 7 8	Oct 3, 2023 Oct 3, 2023 Oct 3, 2023 Oct 3, 2023 Nov 1, 2023 Nov 16, 2023	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$2,074.90) (\$2,074.90) (\$2,074.90) \$2,074.90 \$2,074.90 \$2,074.90 \$2,074.90 (\$1,692.48) (\$1,692.48) (\$1,692.48) (\$1,692.48) (\$5,077.44)	Estimate Item Adjustment (0026) due to user flynns1 overridding Payment



Dec 6, 2023

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2S3356	0910	2 IN. PSST POST - 12 GA.	MaterialCredit	- Total				\$3,384.96	
	0910 -	10 - Total							
	0930	2.5 IN. PSST POST - 12 GA.	Material		6	Nov 1, 2023	SYSTEM	(\$2,255.36)	
					7	Nov 16, 2023	SYSTEM	(\$2,255.36)	
					8	Nov 30, 2023	SYSTEM	(\$2,255.36)	
				- Total				(\$6,766.08)	
			Material - Tota	I				(\$6,766.08)	
			MaterialCredit		7	Nov 16, 2023	SYSTEM	\$2,255.36	
					8	Nov 30, 2023	SYSTEM	\$2,255.36	
				- Total				\$4,510.72	
			MaterialCredit	- Total				\$4,510.72	
	0930 - Total							(\$2,255.36)	
	0940	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	Material		6	Nov 1, 2023	SYSTEM	(\$332.67)	
					7	Nov 16, 2023	SYSTEM	(\$332.67)	
					8	Nov 30, 2023	SYSTEM	(\$332.67)	
				- Total				(\$998.01)	
			Material - Tota	I				(\$998.01)	
			MaterialCredit		7	Nov 16, 2023	SYSTEM	\$332.67	
					8	Nov 30, 2023	SYSTEM	\$332.67	
				- Total				\$665.34	
			MaterialCredit	- Total				\$665.34	
	0940 -	Total						(\$332.67)	
J2S3356 -	- Total							(\$5,758.59)	
Overall -	Total							(\$5,466.31)	



There are no contract adjustments to display for this contract.